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QUESTION 1

You work as a Software Developer for NewTech Inc. You write a bean class using Enterprise

JavaBeans 3.0. The class uses the @DeclareRoles ("ADMIN, HR, DBA, USER") annotation to declare the security
roles. The class contains a method named showResult(). You want to ensure that the ADMIN role is granted privilege to
the showResult() method. Moreover, if a role that is not allowed to access the method tries to call the method, an error
message must be shown. Assuming that there is no security-related element in the deployment descriptor, which of the
following will you use to accomplish the task? Each correct answer represents a part of the solution. Choose two.

A. The isCallerinRole() method

B. The getCallerPrincipal() method

C. The @RolesAllowed("ADMIN") annotation

D. The @PermitAll annotation

Correct Answer: AC

QUESTION 2

You have written the following code snippet.

1.

public class Read {

2.

protected int ReadText(int x) { return 0; }

3.

}

4,

class Text extends Read {

5.

[*insert code here*/

6.

}

Which of the following methods, inserted independently at line 5, will compile? Each correct answer
represents a complete solution. Choose all that apply.

A. private int ReadText(long x) { return 0; }
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B. protected long ReadText(int x, int y) { return 0; }
C. protected long ReadText(long x) { return 0; }

D. protected int ReadText(long x) { return 0; }

E. private int ReadText(int x) { return 0O; }

F. public int ReadText(int x) { return 0; }

G. protected long ReadText(int x) { return 0; }

Correct Answer: ABCDF

QUESTION 3
Mark works as a Programmer for InfoTech Inc. He develops an application named AccountServlet. He
wants to ensure that no body can access his application, i.e., he does not want any role to have access on

his application. He defines the following security constraint for his application.

AccountServlet
lacme/Account
GET

PUT

/lcode

Which of the following options will be used to secure his application?
A

B. Skip the element in the security constraint code.

C.*

D. NONE

Correct Answer: A

QUESTION 4
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You work as programmer for PassGuide.Inc. You have purchased a Web application named

SecureProgrammer that uses the programmatic authorization, and the security roles that are not used in your
organization. Which of the following deployment descriptor elements must you use so that the SecureProgrammer
application can work with your organization?

A

B.

C.

D.

Correct Answer: A

QUESTION 5
You work as a Web Deployer for UcTech Inc. You write the element for an

application in which you write the sub-element as follows.

Who will have access to the application?
A. No user

B. It depends on the application.

C. Only the administrator

D. All users

Correct Answer: D
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